Threshold Concept- Year 7 - Dickens
TC1 - Understanding texts

TC2 - Demonstrate an appreciation of the writer's craft through analysis and critically evaluative comments.
TC3 - Understanding the relationships between texts and the contexts in which they were written

WHEN THE DICKENS?

1836
Dickens marries
Catherine Hogarth.
He is 24.

1812
Charles Dickens is
born on 7 February

1837
in Portsmouth,
England.

1824

Dickens’ dad is sent to

prison for not paying his
bills. 12-year-old Charles
has to leave school to work

1843
1837 Dickens writes

Victoria becomes queen A Christmas Carol

in a factory, sticking labels — —
) € (this is the start of

on pots of boot polish. tHe Victorian era).
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Dickens writes
Oliver Twist.

=
Sairey Gamp
Martin Chucshrwit

Mr.

1901
Queen Victoria dies
(this is the end of
the Victorian era).

1837-1852
Charles and Catherine have ten
(TEN!) kids. Their names are Charley,
Mary, Kate, Walter, Francis, Alfred,
Sydney, Henry, Dora and Edward.

1870
Charles Dickens
dies on June

1860
Dickens writes 9 aged 58.
1858 Great Expectations.
Dickens and It is a good book, 1992
Catherine separate. youd like it. The Muppet Christmas

Carol is released in

cinemas. It is a good
film, you'd like it.
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Identifying audience, purpose and form guide for KS3

English students - BBC Bitesize

Wrapped in the blanket which had hitherto formed his only covering, he [Oliver] might have been the child of a nobleman or

a beggar....But now that he was envelope
badged and tjeketed

... a parish child ... the orphan of 3 workhouse.

The adjective ‘only’ emphasising

The verb ‘enveloped’ suggesting protection — this
is contrasting as Oliver is not protected at all

the old calico robes which had grown yellow in the same service, he was

The blanket itself is worn and dirty

Oliver’s lack of belongings and
highlighting how little he had that
was his own

from age. Dickens is suggesting
that a lot of children suffered in

Oliver’s identity has now
become ‘the orphan’. His
individuality has been
removed due to his tragic

the same way as Oliver in society
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